September 29, 2016

How do I factor out the GCF?

Step 1: Identify the GCF of the polynomial
14y5 : 4y3 + 2y

What is the largest monomial that we can factor out?

The GCF is.....2y

Step 2: Divide the GCF out of every term of the polynomial
14y” - 4y” + 2y
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Factor each of the following:

Sl )
1) 3x4 -15x2 +24x 2) 18 a3b¢ + 27ab2 -“36a
X Bx 3% Qb Tab Anb

3 (0~ Sy + 1) qﬁ{ﬁ&? )((‘ymfbs@b - LD

3) -21rt - 49 r+ - 35 Xy + 3y
-35r3t
A Ty =70 ) b v

(s F70HSCY) e - +&)

Simplify then Factor:
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Exercises Page 155
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Monomial term

Binomial -terms

Trinomial terms

Terms are separated by “+” and “-“ signs.



http://www.youtube.com/watch?v=DjvmLDas_8w&feature=channel
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Simplify:
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